Efficiency vs Dxy(PV)

< -5 LR PR R
o 3 N .
= [ : :
3 : :
3 F : :
2 08 N e
> N
3 [
c . N
Q B . H
S 0.6f feeen
= L .
[ [ .
0.4f-
02 -
1
T
SO O
SO O
B At {8
11 Mt { B
1111 Gl 1
o i i

%5 20 15 10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—"— DQM_mkFit_TToriginal

I Efficienc] —— DQM_mkFit_TTNEWnoMsS-genMatch-CUT

efficiency vs dxy(PV.
o o
[

I
~

o
w

0.2]

‘I\l[
|

1-0.8-0.6-0.4-0.2 0.2 0.4 0.6 0.8
TP dxy(PV) (cm)

0.95

Efficiency vs Dz(PV)
1.

T
P

efficiency vs dz(PV)
o
@
T T

o
ey
T

1
»
J

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 - -
o N N
¥ : :
o 1 Tereryenereyteees -
> . .
2 : :
o . .
5 08
ke : :
5 : :

[0S o e A g .

(O AR ETRETFIRREPREY REPPRPS
o 10 i
T
o

1 -1
0BT 05 0

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


